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Choose the correct answer froma ,b ,c or d.

1) She eats ................ in the afternoon.

a- breakfast b- lunch c- dinner d- supper
2-What’syour ................. football team.

a- nice b- like c- hate d- favourite

.................... a present to my sister .

a- went b- bought C- grow d- watched
4- What ................ he study?

a- do b- does c- done d- doing
5- He and his brother ............ going to visit their aunt.

b- am c-are d-_was
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Choose the correct answer from a, b, cor d:

1- The helps animals.

a) nurse b) vet c) artist d) engineer
2- Aliis than his brother.

a)old b) older c) oldest d) the oldest
3- My favourite subject is

a) kebab b) bird c) lizard d) science
4- Do you to play again?

a) wants b) wanting ¢) wanted d) want
5- The ------------- is the biggest animal in the zoo.

a) whale b) lion c) snake d) elephant
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Choose the correct answer froma ,b ,c or d.

1- They ------------- lunch at home yesterday.

a- had b- has c- have d- having
2- The ----—----—--- is the smallest animal in the zoo.

a- rabbit b- lion c- monkey d- elephant
3- What do you ------------- to do?

a- play b- like c-do d- make
4- oo you going to send an e-mail?

a- Do b- Is c- Are d- Did
5- Kamal didn't ............. the mountain.

a- cook b- read c- clean d- climb




3\.)91.439‘2& Sl ) - bk
= o 98 G O Aauaual) AlaY) A

.................. DA g cilandl g Jall g ciliugdll g pall JaI A aadiey -
[ o Jal — <l il — SN g e — danaad) <]
................ gl 8183 (ary (b adiiiey o 48 A0 o) jaually jaal) ad) Jua b g Y
[ aaadl — Seiadall — aldl — ciliu il
......................... gl bl ) 3ge PIA L) Ade ) Las Al g =¥
[ Js¥) (ohibacd — pad (udaad) — (uglbpalls — yad (gl ]
sadatiall d3Ual) il (e -t

[ el JAY — aadl) — g il - gl ]

kkkkhkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkhkkkkkkkkhkkkkhkkkhkkkkkkkkkkkkkkk

aotadl ;e

dasaall 4aY) s

soal L Aol e L) 4y polatiead -

Jalas (2 oabaial (= el (o oS (i
....... Cruabliaall Cadadi AN 3 gall (e =Y

olal (o asiia s (= sl (o oadd (i
...... o AT G g agily cd) ) gaal) ¥

s e (2 A f (= Jle (@ il (]

______ e Al Balal) (8 M gall Cpe SST g Ole o8 alidy Ladic -
Cuda (2 bslia (= S e (@ paic (i




ciladaly ) s laseld

- BUanall cllaY) G o Aasaial) Alay) s

...... <- ()

V(9 %(c) %(e) %(‘)
......... o B S ey pa g3 g (V)

da (9 S el () () gy (1)
......... = 49150 alal Glial) cileld ) 2 (Y)

Sa (9 *(2) Y (<) ' ()
......... =+,0 + 10 (%)

EANC) Y (T) Y (<) v ()
.................................. = {0 ¢ gucY ]} DY gsIY(e)

Vo ° (%) Y (<) Y ()
.................................. = A=A (")

D () ~(B) ~ () A ()

¢ G gde aa) g 7 luaas i 3B ¢ 48N ubiaa ¥ Lgia ¢ Al g8 mabaa V ¢ 4y GBgdia (V)
= Losdas laaal) 5% of Jlaial o1

FAANC WV (€) Y (9 SV ()




